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Note: Attempt Any Four Questions from the Following.
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Q.1 From the following particulars find out the most profitable product mix and prepare a
Statement of profitability of the product mix.

Particulars Product X Product Y Product Z
Budgeted units produced and sold 3600 6000 2400
Selling Price pet Unit(in Rs.) 120 110 100
Requirement per Unit:

Direct Material (in Kgs.) 10 6 8
Direct Labour (in Hrs.) 4 3 2
Variable Overhead (in Rs.) 14 26 16
Fixed Overhead (allocated) (in Rs.) 20 20 - 20
Cost of Direct Material (per Kg.} (in Rs.) 4 4 4
Direet Labour Hour Rate { in Rs.) 4 4 4
Maximum possible units for sale 8000 10000 3000

All the three products are produced from the same direct material using the same type of

machine and labour,

(1) If the direct material is key factor, find out priority of product.

(2) Direct Labour is key factor and is limited to 38000 hours.

Q.2 The company produces three products. Per unit cost is as under:

Particulars Product A | Product B Product C
Production units 8000 4000 10000
Material (Rs.) 18 26 30
Wages (Rs.) 7 9 9
Variable Overhead(Rs.) 3 3 3

Fixed expenses allocated (Rs.) 5 & 9

Selling Price (Rs.) 44 62 60

The management is thinking to drop any one of the product. The following will be the
changes by dropping the product, other things will remain unchanged.

(1) By dropping any of the product , 10% of the total fixed cost can be saved.
(2) If product ‘A’ is dropped than material cost per unit of other two products will be
Changed by Rs.2 and selling price will reduce by Rs.1 each for B and C.
(3) If Product ‘B’ is dropped then wages of A and C will reduce by Rs.1 per unit and selling
Price will increase Rs.1 per unit.
(4) If Product ‘C’ is dropped then Rs.1 variable overhead per unit can be saved of A and B.
(5) By dropping any of the products, the production of remained two products will be
Increased by 50%. Which product should be dropped?
Prepare various statements to support your answers. v
Q.3 Sahaj Exports Ltd. is producing and selling 20000 units of its production in the home
market at a price of Rs. 60 per unit. Per unit cost is as follows:
Direct Materials Rs.10
Direct Labour  Rs.7
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Factory Expenses

Fixed Rs.i2
Variable  Rs.4
Office and Selling Expenses
Fixed Rs.6
Variable Rs.3

An Importer from U.S.A placed an order for 6000 units at a price of Rs.30 per unit.

Execution of U.S.A order will result in additional total cost of Rs.10000 over and above

variable cost.

Should the U.S.A order be accepted? Show working.

Q.4 A company presents the following information for the year ended on 31-3-2022,

Material Cost 1,20,000
Labour Cost 2,40,000
Fixed Overheads 1,20,000
Variable overheads 60,000
Units Produced 12000 units
Selling Price per unit Rs.50

AR

The available capacity is a production of 20000 units per year. The firm has an offer for
the purchase of 5000 additional units at a price of Rs.40 per unit, It is expected that , by

accepting this offer , there will be saving of Rs.1 per unit in material cost on all units

manufactured, the fixed overhead will increase by Rs.35000 and overall efficiency will drop
by 2% on all production. State whether offer is accepted or not.

Q.5 Define Fund Flow Statement. Explain uses and impbrtance of Fund Flow Statement in

details.

Q.6 Prepare statement showing following details from the Balance Sheet and other details
given below of the Shiv Ltd.
(1) Changes in working capital (2) Necessary Accounts (3) Sources and Application of Funds

Liabilities 31-3-2020 | 31-3-2021 Asgets 31-3-2020 | 31-302021
Share Capital 1,80,000 1,80,000 | Plant & 2,40,000 1,92,000
Machinery
Preference Share 90,000 90,000 | Investment 30,000 36,000
General Reserve 1,80,000 1,86,000 | Stock 1,20,000 1,17.000
Profit & Loss Afc 18,000 21,000 | Bills Receivable 24,000 9,000
Capital Reserve 15,600 19,800 | Debtors 1.20,000 2,73,000
Debenture - 1,62,000 | Bank Balance 95,400 1,18,200
Creditors 54,000 45,000
Bills Payable 46,800 35,400
Provision for 45,000 6,000
Taxation:
B 6,29,400 745,200 6,29,400 7,45,200
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Additional Information;

(1) During the year Investments worth Rs.4, 800 were sold at a price of RS.5, 100 and new
Investments worth Rs.10, 800 werc purchased.
(2) Net Profit for the year was RS.37, 200 after providing depreciation of Rs.42, 000 on Plant
& Machinery and Rs.6, 000 provision for Taxation.
(3) During the year Plant & Machinery worth Rs.6, 000 were sold at a price of Rs.7, 200 and
the profit on the same credited to Profit & Loss Alc.

(4) During the year Rs.24,000 were paid as dividend.

Q.7 What is Cash Flow Statement? Differentiate Cash Flow Statement and Fund Flow

Statement.

Q.8 Following are the Balance Sheets of Samarth Ltd. :

Liabilities 1-1-2021 | 31-12-2021 Assets 1-1-2021 | 31-12-2021

Share Capital 1,25,000 1,53,000 | Machinery 30,000 65,000
Creditors 1,40,000 1,44,000 | Land 90,000 80,000
Bills Payable 20,060 30,000 | Building 65,000 70,000
Bank Loan 65,000 50,000 | Goodwill 20,000 30,000
Cash 20,000 17,000

Debtors 30,000 80,000

Stock 45,000 35,000

3,50,000 3,77,000 3,50,000 3,77,000

During a machine costing Rs.12,000 (accumulated depreciation Rs.4,000) was sold for
Rs.7,000. Balances of provisions for depreciation against machinery as on 1-1-2021 was
Rs.35,000 and 31-12-2021 Rs.50,000. Net profit for the year 2021 amounted to Rs. 55,000.

Prepare Cash Flow Statement and necessary accounts.
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